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unemployment T

-

state u y 6.5% : duration of UI

benefits T to 39 weeks

-
state u y 8% : duration T to 46 weeks

-
additional federal extensions .

IntroducingUIinhomatchingmodd.IO#odmodel
.

-
All workers aneinitially unemployed

- Size of labor face : H = I\
I
,

Unemployed workers search with effort E > o .

Aggregate search effort = # unemployed workers
x (effort lwuka)

= E x I

= E

-
firms post

-

V vacancies to recruit workers

- Matching function gives # of water -firm
matches : m ( E ,

-

V )



- Laba market tightness is a = TIE .

- Probability to fill a vacancy : glo)
- Probability to find a job / unit of effort : ft)
↳ Probability to find a job : Ext

ta:

One representative firm :
- L workers

-

N producers

-

R recruiters

• production function : y = a .

Nd

s wage function W -
-
W ( a

,
UE )

• recruiter - producer ratio : TCO) = RIN

L hires →
T -

- Ll glo)
→

R -

- r x T = rxt
901

So : En
-

- r x Lqg,
=

rq,,x ( ENHNX
I = I ( It 2)

9K

T =
4942
r - r1961



Notary
THIA N = R

Profit : ti -- Y - W x L f

Tl = a .
Nd
- W x [It -40)) x N

↳
same as in usual model

samelabademandi
Yi - aLdl QUI) -- I THD)

-
downward - doping labor demand if Lal

-

but horizontal labor demand if del
-
Ld responds to UI if W dos

Representative worker :

--

• employed waken : consume
Ce

• unemployed worker
: consume OLC

"

L Ce

→ gap between Ce L C
"

is determined by UI

- generous UI system ! C Be close to Ce



- mangone nous UI system : C " much lower than
.

. utilitejfumdrimcfwahasi
- consumption utility Ucci) : increasing , concave
(niobium)
- disability from job search 4(E) : increasing,
convex

-

Quadratic disability : 4ft ) : E
'

12
.

-

- generosity of VI is well - measured by the

utility gain from work : IU=UCCe)-U
•
All 70

•
VI generous (⇒ All its low

•
VI

mmgenenous ⇒ AU is high
• increase generosity of VI : N-

Wakuispnoblemi maximize expected utility by
choosing search effort E :

main UC cult E. flo) .
All - EL

E

concave function → first - order condition gives



global maximum -

take derivative of objective function :

fld) All - E = 0

Effort chosen by wakes :

ftp.UI/=fCG.AL#
• VI t ⇒ gain from waking T

⇒ incentive

to search t ⇒ E T

2ES/2UIL€
•

O T
⇒ return on effort T ⇒ incentive to

search T ⇒ E T

2Es/2

Labaouppeyi

Ls(o,uI)=Es(o,ue)×#y
-

0=0 ⇒ f④ = O ⇒ Ls = O

* 215/2 UI L O : UI depresses labor supply



-

2 LS / 80 S O

LabamarhetequilibniumwilhuI.IS/0,uI)--Ld(O,uI
Implicitly , O is function f UI : O ( UI)

Labamarketdiagnami Ko
, I

f n

⇒

:
i
#L
O L s

Effedrsofutaeabamaket.it/WagepmdoUI
. ( most realistic case)



Ino¥ct( ie a downward

sloping labor demand )
IE : matching qq.dk#.,w/iobmzgtIgring .

⑦ a Lotto) c- what if UET⑤MAciy -
← -

Ld
: same

÷ :÷÷
.

÷
moral

.( hazard less effort
#L

O L
stm÷T¥

.ci#qmempeoymenrwilhrespeTto④I

Effedrsofaninaeaseinuti
• L t

,

U t

•
O T

•
E t
←

MACRO
µ

micro

• O LEM L em



2) wagesdonotrspmdh.VE#odutionfundim
i ( ie the labor demand is horizontal)

Eph : matching yqg.de#.,Yo,o.gigid wage
On

←
What if VI t ?

moral hazard ! E#

Em

#L

O L ' L
s

EffeAsfanihaeaxinV
-

L t d U t

-

O →

-

E t

-

O L EM = E

m

3) Wageigmmngs
I'nearpnodndhmfundiinazmalLd)



O N LSCO,
UI ') 1510, UI )

-
what happens if

⑦
/# /# VIT ?

"
÷::

{ M

c-

FL

O K" L ' L
s

Effedrsfhighn
-

L t I Ut

-

Ot

-

E t

-
W T

- O L Em L [
M

-

Optimal;

social welfare is :



Sw -
- L.u@ejtliEg.u - EL

c

Social planner chooses UI to maximize
SW subjects to the following constraints :

• budget constraint for government ⇒ resound

conduit in economy ;

L

L .

Ce t (r - L) C " = Y = a .
N

u
total consumption

• wni. -
E -

-

E
' ( O, UI)

-

L = Ls ( O
, UI)

• equilibrium: -

O
= OC UI )
T

given by
Ld ( g , EE ) =

Ls ( E ,

• Soloingsoialplamneisproblemrix
.

All variables in social planner 's problem
can be expressed as function of § ,

UI )

mailto:L.u@ejtliEg.u


* Social welfare can be expressed as function
of ( O, UI)

* Social planner 's problem becomes :

max SW ( ⑦ ( VII , VI )
UI

Optimal UI is given by first - order condition :

m
FORMULA

① %W⇒o = O : UI that maximizes welfare
,

- keeping anh
→ optimal VI in a

"

partial equilibrium
"

setup
a
"
micro

"

setup
- s
VI soloing optimally

tradeoff b/w incentives

insurance

→ UI given by a



public - finance formula called "

Baily-

chetlyfamula
"
i

Formula gins opIas a

TanAimof2otatioti
- gem : microelasticity of unemployment
we r w

. n .
t

. VI

iron!g ⇒ optimalVI t

-

U
'

@ e) / U
'

@ u) : ratio of marginal
utilities

, measuring need for insurance

Elo.ir/U# ⇒ optimal VI tr

Insurance
value of UI I

② Io#u± : efficiency term : captures
whether the data market operates

effing a
mot
-

Threepasiblecaoesi



a) ZIG
-

-O : labor market tightness
is efficient

→ Baily - chetty remains valid

b) 38ft > O : labor market tightness
is inefficiently low-

labor market is inefficiently
plack gamla

- s Baily chetty Vis not valid anymore

c) Josif Lo : tightness is inefficiently
high → labor market is

inefficiently tight .
- s Baily - chetty formula is not valid

anymore

③dI: Effect of UI on equilibrium
tightness .

a) do IDUI = O '

.

UI has no effect on
tightness



• happens in matching model
w/ rigid wage
• Em = EM

→ Baily - Chetty formula remains valid
b) dold UI > o : • O T when VI t

• happens in matching motel w/
job rationing

•
O L E

M

L q
m

→ Baily - chetty formula has to corrected

⑦ if labor market is inefficiently tight
( boom) : correction team Lo so

optimal VI is Less than inBaily - chetty

formula .

⑧ if labor market is inefficiently peach
( plump ) : correction tem > o so

optimal VI is me than in Baily
chetty formula .

⇒ optimal VI is counter cyclical



⇒ optimaluiismae-geneousinslumpsthanimboom.se( as in US)
c) DOYDUI < 0 : Q t when UI t

• happens in standard matching
model ( bargaining t linear production
function )
• O L am L EM

→ Baily - hetty formula has to be corrected

⇒ Optimal UI is pro cyclical
⇒ optimalUI.bmaeg-eneous.in

booms than in slumps ( opposite of
-

us policy )




